19 PI2n — DRwns NN

Sar 17 7w

.R3 72172y Vth ,Rth awn

N
A

R 9PY0 MRXIN 9% R3 72 o R awn .2

R1

Vi

2

Rth=2.25, Vth=3.5v

§ R3
5 d-v2
av E
=
Wwn
1
I(R3)=0.483A 2
.2
.R1 721 712y Inor ,Rnor awn.1
.R2 731 72y Inor ,Rnor 2wn.2
R1 Vi R2
AN ANV
2 3
R3
12

1wn
.1

Rnor=co, Inor=1A
2

Rnor=co, Inor=3A

WY 130 B5AN



I3

.R3 may Rth -y Vthawn .1

1 w0 soh R3-aomnxawn .2

.1 P90 2w ,°on0on poon NPt R3 xyn .3
R3

MV
4

R1 R2

Vi
A% Vo 4'AA% V3

SERICIERG

1Wwn
Rth=5, Vth=11v .1
IR3=1.22A 2
R3=5 Pm=6.05w .3

T

.R5 731712y Rth awn.1

R3 731 mmavRth awn.2

O*

0.2A

R1 V2 R4

1awn
Rth=35 1
Rth=21 2

SaR 177 7Y WY 9220 993N



